Marme Drate

PARTS OF A DIVISION SENTENCE 1

= means divide

24 -3 =8

-
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dividend divisor gquotient

24 divided by 3 is equal to 8.

R

j also means divide

8 - quotient
3 I 24
divisor dividend

24 divided by 3 is equal to 8.

Complete the missing parts.

18+2=9
divided by _____ equals ____
The dividend is
The divisor is

The quatient is

3
= 12
divided by equals

The dividend is

The divisor is

The quotient is

20=5=4
divided by _____ equals __.
The dividend is
The divisor is 2

The quotient is

5
3)15
divided by _ equals i

The dividend is

The divisor is

The guotient is
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